
  

Asymmetry using weighted average



Calculating Weighted Asymmetry

Suppose the asymmetry for the i-th wire for data set with RFSF On state for dropped pulses is
given by -
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where ∆Ā↑
i is calculated using,
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where σ is the standard deviation form i-th histogram and N is the number of samples (Up-down
spin pairs) in the histogram.

Similarly for RFSF Off state –
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Then, Weight,
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And the weighted average,
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And the error is the weighted average,
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So on the plot each point represents –
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LR weighted sum



  

LR weighted sum front layers



  

LR weighted difference



  

LR weighted difference (Front layers)



  

UD Sum



  

UD difference


